[ Efficiency vs vertpos |

= 0.0%
$.009
)
9.008
(&)
$.007
_U
.006
0.005
0.004
0.003
0.002
0.

001

1.0

||H||||

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_TT__originalCustomized

Efficiend —— pQm_TT__nocutCustomized

~ 0.0

9.009
%))
9.008
&
9.007
‘©
$.006
()
0.005
0.004
0.003
0.002

0.001

Ratio

Vs

. . ° . .
METENETE BRI Srrara i B 1A A TR A

[y

0.95!

30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0

>
£0.009

B.008

9.007
>
B.006
_(D

.
]
0.
0.
0.

Ratio

1 SRCRCE LRSI TRRTE SRR I
004f- e e R SRR S (REIREE
O R SRR & HESE SR
0107 S R SR R ST % (IR
0.001F- S SR LR S
oFlee. ] Mim okl
LWl 3 3
SRR SN 1 B

=2 0 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


